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Word Replacement Questions for SBI PO Pre, IBPS PO Pre, SBI Clerk
Mains and IBPS Clerk Mains Exams.

Word Replacement Quiz 3

Directions: A sentence is given below with three words highlighted in bold. Select the option
that gives the correct set of words. In case the sentence is correct, select ‘No replacement
required’.

1. While stressing the role of investment in restored the economy the Economic Survey
also states that the twin balance sheet issue has to be undertake on an urgent basis.

A. Highlighting, slowing, tackled B. emphasizing, stimulating, addressed
C. shouting, excited, focused D. Assuaging, invigorating, overlookedNo replacement required
E. No replacement required

2. The concept of financial inclusion, special in developing markets, has always met with
challenges relating to accessibility and affordability.

A. Inspired, commonly, connect B. Thought, peculiar, belonging
C. Idea, particularly, pertaining D. Notion, heed, relevant
E. No replacement required

3. Public expenditure that produces public assets has a higher and more continuous
growth multiplier set to the public consumption expenditure multiplier because it maintains
demand and also reduces costs.

A. building, laidback, comparison B. creates, persistent, compared
C. furnishing, broken, correlation D. Consume, eternal, distinguished
E. No replacement required

4. While it is acknowledged that Electric Vehicles contribute to improving urban air
quality, the government policy should take into account the life-cycle impact of the product
and be agnostic to the underlying technology.

A. Ascertained, indifferent, overtures B. Debated, enchanted, built
C. Developed, believer, patented D. Supported, atheist, seeming
E. No replacement required

5. The blasts in emerging markets is hardly surprising as the tightening of monetary policy
in the U.S. Federal Reserve has conventional caused the turning of the global credit cycle.

A. complacency, for, typically B. chaos, of, newly
C. turbulence, by, traditionally D. roil, with, always
E. No improvement required




6. Although decimal numbers of people facing hunger and poor nutrition have always
been high, there was a minimal in the rate of undernourishment since the year 2000.

A. relatively, has, increase B. percentage, will, decrease
C. proportional, has, reduce D. absolute, have, reduction
E. No improvement required

7. The lack of any clear commitment from OPEC to raise production suggests that the
threat of a supply shock still looms over the global economy.

A. fulfill, consumption, hovering B. show, produce, beseech
C. deficit, targets, weaves D. require, yield, emerges
E. No improvement required

8. It is often conceived that Indian cricket team is incorrigible but the recent England tour
has shown that even the Indian team can loose a series in seaming pitches.

A. Considered, irreparable, loss B. Configured, illegible, lost
C. Perceived, invincible, lose D. Nurtured, ineligible, cross
E. No improvement required

9. The new syllabus introduced by the CBSE is in consonance with the required pattern
and is going to of help to the candidates from other streams in any all India competitive
examination.

A. Implicated, consonant, sticks B. Imploded, consideration, streak
C. Inclined, functional, reports D. Extrapolated, assurance, subjects
E. No improvement required

10. The deplorable relation between Russia and the EU is going to effect the global
equilibrium since the shift in the centre of power will distinctly make its mark.

A. Diplomatic, affect, definitely B. Diligent, excuse, certainly
C. Dutiful, extreme, surely D. Plenty, accuse, severely
E. No improvement required

Correct Answers:




Explanations :

1.

The original statement is incorrect due to as restored does not make sense. Investment would help
in restoring an economy and not with an already restored economy. Also, tense of undertake is
incorrect.

Option A: Slowing is opposite to the correct meaning and is incorrect.

Option C: Shouting does not make sense as the first word. The other twowords also do not make sense
in the statement due to being incorrect in terms of meaning.

Option D: Assuaged means relieved and does not fit in contextually. Also, overlooked is opposite of the
correct meaning.

Option B: All the words fit in well.

Hence, option B is correct.

The original set of words is incorrect due to use of special which should have been especially.
Option A: All the words are incorrect and do not fit in.

Option B: Only belonging fits as the third word. Thought is very general
while peculiar; meaning strange, is incorrect in terms of meaning.

Option D: Both heed and relevant are incorrect.
Option C: All the words fit in well.

Hence, option C s correct.

Set does not fit in meaningfully in the original statement.

Option A: All the words mentioned are incorrect and do not replace the existing words meaningfully.
Option C: All the words mentioned are incorrect and do not replace the existing words meaningfully.
Option D : Distinguished is followed by from and not to. This option is incorrect.

Option B: All the words fit in well.

Hence, option B is correct.

The statement is correct in its original form and no word needs to be replaced.

Hence, option E is correct.




The original statement is incorrect as the none of the words make sense and render the statement
meaningless.

Option A: Complacency is opposite of what is needed here. For is also incorrect.
Option B: Newly is incorrect here.

Option D: With does not make sense here.

Option C: All the words are a perfect fit in the statement.

Correct: The turbulence in emerging markets is hardly surprising as the tightening of monetary
policy by the U.S. Federal Reserve has traditionally caused the turning of the global credit cycle.

Hence, option Cis correct.

The original statement is incorrect as the decimal and minimal are both absurd and do not make sense.
Option A: All the words are incorrect.

Option B: Both percentage and will do not fit in.

Option C: None of the words fit in.

Option D: All of the words are correct.

Correct: Although absolute numbers of people facing hunger and poor nutrition have always been
high, there was a reduction in the rate of undernourishment since the year 2000.

Hence, option D is correct.

The original statement is correct contextually and grammatically and does not need to be changed.

Hence, option E is correct.

The original statement is incorrect since all of the highlighted words are used out of context and hence,
do not make any sense altogether.

Option A: Irreparable and loss do not fit in.
Option B: All the words are incorrect
Option C: All the words are perfect fit
Option D: All the words are incorrect

Correct: It is often perceived that Indian Cricket Team is invincible but the recent England tour has
shown that even the Indian team can lose a series in seaming pitches.
Hence, Option C is the correct choice.




10.

The sentence is correct both grammatically and contextually and hence, does not require to be
changed.

Hence, Option E is the correct choice.

The original sentence is incorrect since the highlighted words are not correct according to the context
given and that is why they are not making any sense at all.

Option A: The words are perfect fit for the context

Option B: Diligent and certainly do not go with the context
Option C: Dutiful and extreme are not correct

Option D: All the given words are irrelevant

Correct: The diplomatic relation between Russia and the EU is going to affect the global equilibrium
since the shift in the centre of power will definitely make its mark.

Hence, Option A is the correct choice.
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